STH6EEEHEISEIMNTHRIE GRIZF)
[ | J#BNFERIK

| 2BR#%l0nE:E
- HENF HEE BRI
2L 284 g (BC#EHR) (BCH#HEHRN)
= i |zgae|s5EeAs| &3 |smey| 63 | R |enex
&8 80 50% 40 36 0.90
2FR |£ERA 40 50% 20 6 0.30
MY a—va 40| 160] 50% 20 80 25 67| 1.25]0.84
gl 1 60 25% 40 152 3.80
[ 2
AFLAN - HA LT3R 80| 240] 25% 20 60 83| 235| 4.15(3.92
wmes B8 160 50%| 80 | 14 .43
= [zar747 40| 200] 50% 20| 100 39| 153] 1.95]( 1.53
HEAK 40 50% 20 47 2.35
BEAEF 40 50% 20 30 .50
EEIE TERFMT 40 50% 20 49 2.45
E N 40 50% 20 39 1.95
BIEAFY T A 40 50% 20 30 .50
&5E UL 40| 240] 50% 20| 120 44| 239| 2.20| 1.99
L BEIIIATL 80 50% 40 74 .85
EHY -3 80| 160] 50% 40 80 75| 149] 1.88 ] 1.86
B 1| HeFER 120 50% 60 59 0.98
@At 40| 160] 50% 20 80 22 g1l 1.10] 1.01
3% 160 50% 80 153 .91
Al |B=
Jar5 47 40| 200] 50% 20| 100 29| 182| 1.45] 1.82
BEIIIATL 80 50% 40 71 .78
B8 |#E#®vYa-va> 80 50% 40 48 .20
&35 b 40| 200] 50% 20| 100 38| 157| 1.90| 1.57
TR 40 50% 20 34 .70
HAI¥ (g5 40 50% 20 29 .45
HEE 40| 120] 50% 20 60 27 qo| 1.35] 1.50
i@ 160 50% 80 90 .13
=il |[ERAE 40 50% 20 31 .55
H5E XL 40| 240] 50% 20| 120 22| 143 110|119
BEI = 40 50% 20 10 0.50
- EERY 40 50% 20 |2 0.60
=3 g ZRES
BRRR e arE 40 50%| 20 B 0.90
TJ—REYRZR 40| 160] 50% 20 80 16 56| 0.80 | 0.70
£i@ 120 50% 60 52 0.87
= TR (SCERF-R) 40 50% 20 31 .55
BHEY 2270047 80 50% 40 62 1.55
Bt 40| 280] 50% 20| 140 23| 168| 1.15] 1.20
B F K 80 50% 40 74 .85
ELE BEIY 40 50% 20 20 .00
1B R 80 50% 40 70 .75
BETHA > 40| 240] 50% 20| 120 48| 212] 2.40| 1.77




- HEANE HEE SRR

2L 284 - (BCHEFR) (BCH#EFR)
=1 i |agne|ggAB| 63 |smEEk| A3 | BE |ensx

Ak gl 280 20% 56 180 3.21
XHHER 80| 360] 20% 16 72 92| 272|5.75]3.78

S gl 280 50%| 140 201 |.44
JarFA7 80| 360] 40% 321 172 89| 290| 2.78] 1.69

Hugat gl 280 40%| 112 226 2.02
HA4 TR 40| 320] 40% 16| 128 33| 259| 2.06 | 2.02

S Pl 240 40% 96 265 2.76
B 120] 360] 20% 8| 104 69| 334 8.63]3.21

EMITF 40 50% 20 26 .30

4 FERA 40 50% 20 44 2.20

BERE |lgaT 40 50% 20 43 2.15

BIETY 40 50% 20 16 0.80
£5E UL 40| 200] 50% 20| 100 46| 175] 2.30| 1.75

HEAK 40 50% 20 32 .60

EEVRT L 40 50% 20 36 .80

B 40 50% 20 53 2.65

BERIX [EFER 40 50%| 20 36 1.80

=42 40 50% 20 54 2.70

L ZRIE 40 50% 20 33 .65
A>F)7F 40| 280] 50% 20| 140 32| 276 1.60] 1.97

mEexIAY M 160 50% 80 108 1.35

BREEE Ry ) a—va> 80 50% 40 56 .40
70— N ILERSEK 40| 280] 50% 20| 140 32| 196| 1.60]| 1.40
BEEE ey 120] 120] 40% 48 48 51 51| 1.06 | 1.06
RE |#REFHR 120 120] 50% 60 60 84 84| 1.40| 1.40

&iE 120 40% 48 75 .56

/AR @ (KB —2R) 40 10% 4 5 .25
BB FEERFI) 40| 200] 40% 16 68 34 114] 2.13] 1.68

B¥ 40 50% 20 26 .30

HEAK 40 50% 20 35 1.75

I EE [ 40 50%| 20 217 1.35

HETRIAT 40 50% 20 26 .30

B®Y)a—va> 40 50% 20 30 .50
Bk 40| 240] 50% 20 120 17 161]0.85] 1.34

R gl 80 50% 40 40 .00
£35E30L 40| 120] 50% 20 60 15 55 0.75 | 0.92

RS %ﬁ 200 40% 80 157 .96
b 80| 280] 35% | 4 94 45 202| 3.21|2.15

IR &iE 200 40% 80 95 .19
Ja>FA47 40| 240] 25% 10 90 47 142 470 1.58

B¥ 40 50% 20 58 2.90

BE 40 50% 20 43 2.15

HIMBEE |54 75741 > 40 50% 20 40 2.00

BaAE 40 50% 20 45 2.25
BE+AK 40| 200] 50% 20 100 49| 235| 2.45| 2.35




- HEANE HEE SRR

4 2R a (BCHBHR) (BCHBHR)
= i |agne|ggAB| 63 |smEEk| A3 | BE |ensx

HEAK 40 50% 20 26 .30

EREES 2T L 40 50% 20 24 .20

IR T B 40 50% 20 37 .85

BRYRT L 40 50% 20 37 .85

LT 40 50% 20 31 .55
A>F)7 40| 240] 50% 20 120 40| 195] 2.00] 1.63

B BEIIIAT 80 40% 32 71 2.22
8|y ) a—a> 80| 160] 40% 32 64 63| 139]2.13]2.17

=4 538 80 50% 40 24 0.60
£35E30L 40| 120] 50% 20 60 27 51| 1.35|0.85

B T8 120 40% 48 60 .25
LA AFEERFI-R) 40| 160] 40% 16 64 21 81| 1.31]1.27

ik B ¥ 40 40% 16 10 0.63

HEAK 40 40% 16 |4 0.88

B &R B 40 40% 16 24 .50

BETRIAT b 40 40% 16 31 .94

B®Y)a—Ya> 40 40% 16 25 .56
&k 40| 240] 40% 16 96 14l 118] 0.88] 1.23
B |ER 120 120] 10% 12 12 2 2 0.17]0.17
2B4%|&3t 7320)43.1%]| 3152] 3152] 5364] 5364] 1.70 | 1.70

XERABRERBRVBBE s EERBEROBEEEBIDVWTE, MEP»rSORNELEZEL,
XEEBRD—MAFHERENEEABIL. BREE) SHBANFERRRVEHEUNFERIKRD
AEZEBNEEHZRLLLDLLET,

2 EERHORE

8 HEANZ HEBE BRI
A 284 ) (BCHELN) (BCH#EHX)
EB it |ugne|seAs| A |smEEk| 65 | ER (e
TS iE 40 20% 8 7 0.88
HES 40 80] 20% 3 16 3 10| 0.38 ] 0.63
=) EES 40 40| 25% 10 10 4 4] 0.40 ] 0.40
HEAK 40 50% 20 0 0.00
BBI¥ |g5 40 50% 20 [ 0.05
HEE 40| 120] 50% 20 60 3 4] 0.15 | 0.07
S, 0 i@ 40 10% 4 | 0.25
HES 40 80] 10% 4 8 2 3| 0.500.38
=ik EiE (BEOER) 80 25% 20 21 .05
Ei@ (REOIR) 40 120] 25% 10 30 6 27] 0.60 | 0.90
R A3t 440]28.2%| 124 124 48 48] 0.39 ] 0.39
3 2A#lrEEfloRRNE
| B4 - ZrE At | 7760[42.2%| 3276] 3276] 5412 5412 1.65] 1.65 |
[2 EERNFHIEIR
| 2BR#lnE:E
L . =1 R\ R HEEIRR
2R 4% 254 - -
EEB i BEAE sy &3
®/E |gaA 120 120 % 54| 54

REHZEUNZERENEEAEBER, BREEEN SHEANEERBRICL 2E6RAEZERERL -
BELRelzd, b, EFEMAZERRICBEVTUIL, BREQFRLIEA,



RMO6FEERRUBEFRANEERIEK

2 g R EEE BEAE BREE B
FR B wemaws [ 23T &5
I &138 5| 5]14] 4] 8
A 5| -0 -0
L 7—F=z')— 3 3 0 3 3
N EEES 5| -0 -0
EE V7R —IL 61 -121 -1 2
IX  [hor— 5 [ - T [ =11
Pl Ry — 5] -1]01| -1 0
BE |V R—IL g -1T317T-13
= Sre=oybr-L] - | 7| -] 5] 5
BRI |Y7rR—IL 9 -8 -] 8
R — -li1o]l -177117
&w# [s7e—svrf-L| 10| - [T0] - [ 10
A—k [ : 2
D 5 - [ 1T [ -1
T=A 5|1 -15]-1]056

EER oevmr [ 3 - [T =11
T [HRA— 6 6 6
RE K% 5| -12] -1 2
VENY 3 3| 2 | 3

=0 ) -1 s -1 I
RERT - [5 [ - [T [1

g |[LRYST -1 5] - | I
BRE  [AEaR#EgR [ 7 7
R E SR [ 10 10
=g LRY> o 7 - 7 - 7
¥ [KF 714|505
HRA— 51 -12]-1]2
23R s -TOoO[-1]0
F=2 - 5 -1 4] 4
g |VIhT=2R 6| - 6] 6
BE [ HR— [ 3 3
EA= 51 -]l 5] -12]2
538 -]l 5] -14] 4
A EPD 4 0
Bt 2 0 0

HE ENDZ 3] 3 I 0 I
N4y R— L 5| 54|37
M BRIz 71 s 6] 410
DIAN)TTATT I 2 2
o %ﬂﬂs‘é\ 7 -15] -158
xi INRR—IL 7 - 4 - 4
DIAN)TTATT I |
wHE [LR)>T 7151001 O
#, |/ SL—K—L 6| -1 6| -] 6
IX |[auEEk [ 2 2
NL—FR—L -1 6| -]16] 6
V=R 6 -4 -4
23 71 -1T6]-16
B & EN 6 2
1& INL—FR—IL 6 | _ 4 l _ 4




